Faoncbions + routune s.
Int man ( we ougc, chaxr *M'%V[’_\)
A — _
-

< ﬁ?y) (IMW) <0M3M S

{ boahy of i~/ Voukursr ¢
( Jo colk \/Mcab(—“))éta‘tms)}

O ToWMmwWme (s wfwwm Whose Tebuwrn Wpe 1S
vouds ( does sowph"-n%, YNNG de-r\g)

otoi () : .
a-tog() }WS Prntf - routins.

scong ()




void show (inc n)

{ prnty (‘m is opdn; ) 5 3
e man()

{ show (45); i



GCh: .
¥ incluwde (stdrs. h)
gm?&(swb-h))

: cd e m., O =
m%o&-: u,bS(:v\.v)) (é=ab)(n))'zj
while (y>e)

{ 2= x%y5; *='% 4-2; §

el %}

3

k. meaum ()

{ L m , '"-")' . ° T _
whde ((scanf ( 2L 7, .&”";‘S"’

{ Prmcs (“?WL(%W) %) 15 F%d\n

} m, n, quk(m,n));

3






CALLING A RowTINE

pruntf (" qed (%d, %k) is %d \n"

., god-(m,w) )3
k—’—_ﬂ—\/
() m, n m moun () - M
c,oPLc,d.a't‘D m,n n 900\,(). CoiNcADenNCE,
(2.) %GGL (A e/xe,c,uluab,p 'fM)’ value OF p 3 '-eth'Md,
(3) That volue (s prnted,

§I’L.'7 makes cleanv thax W m mawn ()
ongh wn %cot() are ma(.qamd.ux,




§lz-q Boolean ]anodDMS.

I (Oﬂﬁmﬂm C, no bovlean Wie/fakse.
Nt Values wsed g 0 = Afodse

/
NOM Z esd = Ttvruie

FGr (M»vw(/ﬁ) 1)

mf-?-owp&e/w(m yy)
{rdmn yy % 4 == 05}
e divides (T wm ne 1)
f rwm (ml=0) 88 (n%m ==0);]



§12.9 Rowtume wwh axrroy MGuments

it totad (e, mt al])
{U’W 5:0,‘

e L)

for-(L=0; Lin; ++ i)

{ S +-= a,[:.];} Jor s=s+ alil
relurre S;

} /2 relurns G—fol-l--..-u-a-fn-l]



s.,Z:ua;c., ged (63, 35)
wiide (4 >0){ 2=%%Y; X=y; Y=Z:} reliwn
m n X y Z ydo? —

63 35
63
35
2%

gos
25
Yelbyr F



Simdlate total(2, {3,1,4))
v for (L=0; i(n; +Hi)) St= alils} f'e'av;"‘-

o SL'L(V:: o]c]
3,43
J
0
o
Y 3
3 I rmg
Y \
4 ,
Y 4
g 3



s.,Z:ua;c., ged (63, 35)
wiide (4 >0){ 2=%%Y; X=y; Y=Z:} reliwn
m n X y Z ydo? —

63 35
63

23

25
— Volbiyr ¥



Simdlate total(2, {3,1,4))
v for (L=0; i(n; +Hi)) St= alils} f'e'av;"‘-

o SL'L(V:: o]c]
3,43
J
0
o
Y 3
3 I rmg
Y \
4 ,
Y 4
g 3



Roulmes which call themseWes', RECURSIVE

wk gcd (I e, ik 1)

{ ¥ (n=-0)
ire,mrn M.;5
Cl&e

[ relivrm gcd-(*‘-, m % n) ;S

A —

'Ln,c tota_j, ( ux mium: o-(] )

{ ¥ (n<-0)
{T&CAIN O;"}
else

[ riturn total (n-l, o) + ou[n-j,];}

§




VARIoUs ReCURsWE ROWTINES
e c,aL(wc'm., mE M)

{f ,-&21"3,.,, geol(m,n) =
f':_ww ged (n, m 2 n) ;) Gd(n, m ¥n)
u\;ﬁ{totd (wmt ry int a[]) 2 ——
{ l{égt:: O)O;,} i,<vu i‘ﬂ%

?S:Wn totol ( n-l, o) .

+ a.[n.-lj;

3}



WL vec_torint (mt n)

i f (n>o) nz(ak...a,),
{ rec_pruwc (n/io); — . =
Pwtf("yd”, n2i0); /1o 5 (a'k.“au')w

n%lo = o,



'‘Rarssiany PEASANT ALCORITHM'

it product (e m, wme n)

{ o (n=:0) If " (S eden., N=2k Souy
{d_; wo’lj then mon = M-é/-i- M.é,
( mt = product Lf Odds  2R4 Say
: (M", ""/’-); thene
¥ (nz2-==0) n = M mbko + .,
{ rewrn p+p 3} |
else syl ar~
{r‘Wm ’PJ—p+-'m.;$ method

JZ for A/e'



PRAME FACTORS.
Vold facrorise ( vt 1)
| it Seems_prume = 1
ne ™,
fov (m.- 2: Seams. pfbww
8,5) mn ) ++m)
{ 'f(da(vbdeS(m, w..)) é,,sm,au&sc danv g
{ Seums_prme = &3 — 'p(‘kuz,

Princf ( L M)<\ oIS composde

7
(Swws Pf’m-ﬁ-) : .
i'prmt.f( snd”, n);y = o8 Pome

¥



